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|
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- — x = | N A +32:b
r= x+)J o —lbecl® 6
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>, = 2x 4 \
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() x =7 g Gt < /T
Ceodb =1 i
c= (2D (x+¥ (yt3)*= 1

cos xPe oxt9 *, 44, tG=15
< c= 1 secl ) X5t b +H{+Lh co
\\_—_/ - / /
: C # bptst “hesi. =6
(g) 2x -3_ =5 e a— T T ‘
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//rﬂﬁ 5 \
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AAVERVE O 2 1NVTULU Al Name
Practice 6.4 Polar Coordinates Date Block
r. e — —— e p——— - g A e e
§1. Plot the following: T o T
7 i
A (6,—’5) B. [3,—3—"J ’ ' '
4 KN\
5 JT’*‘”' a
C. (8,n) B, [|=&2t —_—
3 / rJl | N ii
Iy Ny f’ 5
N / /N»J‘ )
% /7“\?{,‘ / "- ’f ]
N TS/
1 XA T
\ A
E (—5,-—") F. [-4-2 "
6 3 o

A. [4,%) B. (8,—%’1] C. (_ 2’_1350) 5, [2,_14;?”}
(-273,%) (=d,-473) (V= /=) () 62, —1.18)

3. Given the rectangular coordinates below, find the polar coordinates satisfying the conditions given:

A. (3-3); r20and 0<6 <27 B. (-5-5v3); r<0 and @<6<x
= ?:ﬁ (3ﬁ1 7%—) =)0 (/O!q'":/‘%)
™w :‘ﬂr
63, 7% ¢ =3 (10, ™)

, C. (4J§,4); r<0and 060 <2rx

("{r (" g, qé—>
g 3
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ange the following polar equations to rectangular equations:

h

4. r=>3sect 5. r=—4cos@ 6. r=4cost9—4sin9

z z - L—\X"u

~— = kq"'-v’e X 4,‘3_- - 7’_11
X=5% / /('i/f;)L* (4+42) & )
6
9. 7= 2696 —3sin 8
?

o inendib > e
Change the following rectangular equations to polar equations:

10. x*+y* =81 11. y=-5 12. y*=10x
rz:ﬁ_% \ rS‘ﬂB 251 (‘-'5\,.@\ \ov cos 0
r= 9 2 2 e ?Gﬂg_r_ff:“
Sk —-*’:’TZ} (_Sn?'(f
~ rSia
-9 )
13. 3x+4y=2 14. y* —8x-16=0 15. (x=1)*+(y+4)* =17
=\

W& =rtl Y * -0 ~\b

,_?_x —‘-{l’\'b)j

( /)_f(.—ioﬂ\arsl,"}
Zerenb Esn b) ©

r(r"
© =

ZCuL B “%Lln

Cin AN 00 < e N AR QI Al = 3 : j 5
16. The location, given in polar coordmates of two planes approachmg the Vlcksbu_rg airport are (4 mi, 12°)
1,

and (2mi, 72°). Find the distance between the airplanes.

)(27 2%+ Y* - 2 (2)(Y) s GO
l 4

17. The locations of two ships from Ma i i
_ g . ys Landing L iven i :
(5mi, 150°). Find the distance between the sh;gpslghthouse’ given in polar coordinates, are (3mi, 170°) and

XZ: S’z«' R l(§3{3\ oy 20

O X 2t
— g———//
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—
Honors Pre-Calc

Classwork 6.5 Graphs of Polar Equations

° Classify and Graph the Jollowing polar equations:

I.r=-4cos@ (", \e

2. r=2sin30 ony CM(VC

Name

Date

Block

3. r=3cos40 @Lﬂ vrv

~Aals
A ¢ F

Classify the polar graph, identify any symmetry and the location of the maximum r-value.

int
Polar Carve Type Symmetry | Max r-value poin
Cordiod | W I (6,7
7. r=3+3sinf L\'maLon 7/-—a>ng { / ( I 2)7
) = O (/7\’\(
8 r=4-3cosd lea(on W, d\ﬂ‘[je 2-GXS ( jt )/
~ (7,57
9. r=7sin30 kzuse (ur\v‘L \ﬂ iahi S L3
cltthre (C, lr+fn>
10. r = 9sin 20 Qoge CU'V'L -O¥N§ \K‘Ct\l\kv s Yy 2
¢ or g o
m v T
- -
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write the equation of the polar graph given:

/' /g’,1 ‘:‘

p 11 -2"11/\4/{}\
@

14, | tlsi,0
i T R

“I
|
H

Application:

12. 1 Lj < n AU
- 1 n
"___4.- . ‘-“ ‘_1_'
Is. 4 sia 30

/

(]_}DOL{ “ ﬁ&(lruﬁ
Lo oty
13_ = J2cos €
- : 0

|y

u,‘;

Sailors look for a sailing angle to a 10-knot wind that produces the maximum sailing speed. Each point (r,0) on
the graph gives the sailing speed, r, in knots, at an angle, 0, to the 10-knot wind. Use this information to solve.

17. What is the speed of a sailboat sailing at the following angles to the wind?

Angle 60°

wﬂ

120°

180°

Speed 5

7.

<

-

<

Qr
12 0 or
g 7
t =
1507 / (3 \’ Uy
\1\‘4\ 4 /r
' 1/
“"lunn]:n:.lh\lu

18. What angle 1o the wind produces the maximum sailing speed? What is the speed?

7@' S oS

4
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